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CDX Distance Learning
Exercise #8
DMM Experiments, Part I

Student Name: Click or tap here to enter text.

Click or tap the check box next to the answer choice that best completes the statement or answers the question. Viewing the animation will be required to answer the following question(s) correctly. Read the question and use the link provided to open the animation. Follow the directions in the questions and select the correct answer. When complete, close the animation window and move on to the next question(s).

Multimeter Animation 1
 
	1. What is the voltage drop across the first (larger) bulb?
	 ☐
	a. 
	12 V

	 ☐
	b. 
	2.73 V

	 ☐
	c. 
	9.27 V

	 ☐
	d. 
	0 V






	2. What is the voltage drop across the second (smaller) bulb?
	 ☐
	a. 
	12 V

	 ☐
	b. 
	0 V

	 ☐
	c. 
	2.73 V

	 ☐
	d. 
	9.27 V






	3. How many amps does the circuit draw?
	 ☐
	a.
	0.3 A

	 ☐
	b. 
	0.4 A

	 ☐
	c. 
	3 A

	 ☐
	d. 
	5 A






	4. What is the resistance of the second (smaller) bulb?
	 ☐
	a. 
	3.7 ohms

	 ☐
	b. 
	1.9 ohms

	 ☐
	c. 
	5 ohms

	 ☐
	d. 
	7 ohms








	5. When the circuit is ON, why is the first bulb not lit?
	 ☐
	a. 
	The bulb is open

	 ☐
	b. 
	The bulbs are wired in parallel

	 ☐
	c. 
	There is a difference in resistance values between the two bulbs

	 ☐
	d. 
	The fuse is blown
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	6. What is the voltage drop across the bulb with the circuit turned on?
	 ☐
	a. 
	2 V

	 ☐
	b. 
	10 V

	 ☐
	c. 
	0 V

	 ☐
	d. 
	12 V






	7. What is the resistance across the bulb?
	 ☐
	a. 
	0.5 ohms

	 ☐
	b. 
	5.0 ohms

	 ☐
	c. 
	50 ohms

	 ☐
	d. 
	5 k ohms






	8. How many amps does this circuit draw?
	 ☐
	a. 
	12 A

	 ☐
	b. 
	31 A

	 ☐
	c. 
	0.5 ohms

	 ☐
	d. 
	0.31 A






	9. What is the voltage drop across the switch in the ON position?
	 ☐
	a. 
	6 V

	 ☐
	b. 
	12 V

	 ☐
	c. 
	12 A

	 ☐
	d. 
	0 V






	10. What is the resistance across the fuse in the circuit?
	 ☐
	a. 
	0 V

	 ☐
	b. 
	0 A

	 ☐
	c. 
	0 ohms

	 ☐
	d. 
	12 ohms
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	11. What is the voltage drop across the first lightbulb?
	 ☐
	a. 
	3 V

	 ☐
	b. 
	6 V

	 ☐
	c. 
	9 V

	 ☐
	d. 
	12 V






	12. What is the voltage drop across both lightbulbs?
	 ☐
	a. 
	3 V

	 ☐
	b. 
	6 V

	 ☐
	c. 
	9 V

	 ☐
	d. 
	12 V






	13. How many amps do the two lightbulbs draw?
	 ☐
	a. 
	0.25 A

	 ☐
	b. 
	0.480 A

	 ☐
	c. 
	0.5 A

	 ☐
	d. 
	1 A






	14. What is the resistance across the first bulb?
	 ☐
	a. 
	1.9 ohms

	 ☐
	b. 
	3.2 ohms

	 ☐
	c. 
	7.3 ohms

	 ☐
	d. 
	19 ohms






	15. What is the voltage drop across the switch with the switch in the OFF position?
	 ☐
	a. 
	0 V

	 ☐
	b. 
	3 V

	 ☐
	c. 
	9 V

	 ☐
	d. 
	12 V
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	16. What is the available voltage at the switch?
	 ☐
	a. 
	3 V

	 ☐ 
	b. 
	6 V

	 ☐
	c. 
	9 V

	 ☐
	d. 
	12 V






	17. What is the voltage drop across the first (smaller) bulb?
	 ☐
	a. 
	1.75 V

	 ☐
	b. 
	2.73 V

	 ☐
	c. 
	9.27 V

	 ☐
	d. 
	12 V






	18. What is the voltage drop across the second (larger) bulb?
	 ☐
	a. 
	1.45 V

	 ☐
	b. 
	2.73 V

	 ☐
	c. 
	9.27 V

	 ☐
	d. 
	12 V






	19. What is the amperage flow in the circuit?
	 ☐
	a. 
	0.1 A

	 ☐
	b. 
	0.2 A

	 ☐
	c. 
	20 mA

	 ☐
	d. 
	0.3 A






	20. What is the resistance of the first (smaller) bulb?
	 ☐
	a. 
	1.9 ohms

	 ☐
	b. 
	3.7 ohms

	 ☐
	c. 
	4.8 ohms

	 ☐
	d. 
	7.25 ohms
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	21. What is the resistance across the first bulb?
	 ☐
	a. 
	0.5 ohms

	 ☐
	b. 
	5 ohms

	 ☐
	c. 
	24 ohms

	 ☐
	d. 
	2.4 ohms






	22. What is the resistance across the second bulb?
	 ☐
	a. 
	1.9 ohms

	 ☐
	b. 
	2.4 ohms

	 ☐
	c. 
	19 ohms

	 ☐
	d. 
	24 ohms






	23. What is the voltage drop across the first bulb?
	 ☐
	a. 
	0 V

	 ☐
	b. 
	1.664 V

	 ☐
	c. 
	10.23 V

	 ☐
	d. 
	12 V






	24. What is the voltage drop across the second bulb?
	 ☐
	a. 
	0 V

	 ☐
	b. 
	1.664 V

	 ☐
	c. 
	10.23 V

	 ☐
	d. 
	12 V






	25. What is the measured voltage drop across both bulbs?
	 ☐ 
	a. 
	0 V

	 ☐
	b. 
	1.664 V

	 ☐
	c. 
	10.23 V

	 ☐
	d. 
	12 V
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	26. What is the voltage drop across the bulb?
	 ☐
	a. 
	0 V

	 ☐
	b. 
	6 V

	 ☐
	c. 
	12 V

	 ☐
	d. 
	12 A






	27. What is the resistance of the bulb in the circuit?
	 ☐
	a. 
	0 ohms

	 ☐
	b. 
	1.9 ohms

	 ☐
	c. 
	12 V

	 ☐
	d. 
	1.9 watts






	28. What is the voltage drop for the entire circuit?
	 ☐
	a. 
	0 V

	 ☐
	b. 
	12 V

	 ☐
	c. 
	12 ohms

	 ☐
	d. 
	12 A






	29. What is the current flow of this circuit?
	 ☐
	a. 
	0.71 A

	 ☐
	b. 
	710 kA

	 ☐
	c. 
	0.14 A

	 ☐
	d. 
	1400 kA






	30. What is the resistance of the switch in the circuit?
	 ☐
	a. 
	0 V

	 ☐
	b. 
	12 A

	 ☐
	c. 
	0 ohms

	 ☐
	d. 
	12 ohms
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	31. What is the resistance of the resistor in the circuit?
	 ☐
	a. 
	120 ohms

	 ☐
	b. 
	12 k ohms

	 ☐
	c. 
	0.12 ohms

	 ☐
	d. 
	120 V






	32. What is the available voltage in this circuit?
	 ☐
	a. 
	1 V

	 ☐
	b. 
	12 V

	 ☐
	c. 
	12 watts

	 ☐
	d. 
	12 A






	33. What is the voltage drop across the resistor in the circuit with the switch ON?
	 ☐
	a. 
	1 V

	 ☐
	b. 
	12 ohms

	 ☐
	c. 
	1 A

	 ☐
	d. 
	12 V






	34. What is the current flow for this circuit?
	 ☐ 
	a. 
	0.1 A

	 ☐
	b. 
	1 A

	 ☐
	c. 
	10 A

	 ☐
	d. 
	0.10 kA






	35. What is the voltage drop across the resistor with the switch OFF? 
	 ☐
	a. 
	12 V

	 ☐
	b. 
	0 V

	 ☐
	c. 
	12 ohms

	 ☐
	d. 
	12 A
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	36. What is the resistance of the lightbulb in the circuit?
	 ☐
	a. 
	5 ohms

	 ☐
	b. 
	50 ohms

	 ☐
	c. 
	0.05 ohms

	 ☐
	d. 
	0.5 ohms






	37. What is the resistance of the resistor in the circuit?
	 ☐
	a. 
	10 ohms

	 ☐
	b. 
	100 ohms

	 ☐
	c. 
	1000 ohms

	 ☐
	d. 
	0.1 ohms






	38. What is the voltage drop across the lightbulb in the circuit?
	 ☐
	a. 
	0.067 ohms

	 ☐
	b. 
	67 ohms

	 ☐
	c. 
	6.7 V

	 ☐
	d. 
	0.067 V






	39. What is the voltage drop across the resistor in the circuit?
	 ☐
	a. 
	0.067 V

	 ☐
	b. 
	12 V

	 ☐
	c. 
	6.7 V

	 ☐
	d. 
	11.93 V






	40. What is the current draw of the entire circuit?
	 ☐
	a. 
	0.12 A

	 ☐
	b. 
	12 A

	 ☐
	c. 
	12 V

	 ☐
	d. 
	0.120 watts








Multimeter Animation 9
 
	41. What is the resistance of the resistor in the circuit?
	 ☐
	a. 
	1 ohm

	 ☐
	b. 
	10 ohms

	 ☐
	c. 
	100 ohms

	 ☐
	d. 
	1 k ohms






	42. What is the available voltage at the power source?
	 ☐
	a. 
	1 V

	 ☐
	b. 
	12 V

	 ☐
	c. 
	1 A

	 ☐
	d. 
	1 ohm






	43. What is the voltage drop in the circuit?
	 ☐
	a. 
	1 V

	 ☐
	b. 
	12 V

	 ☐
	c. 
	1 A

	 ☐
	d. 
	12 A






	44. What is the current flow in the entire circuit?
	 ☐
	a. 
	0.12 A

	 ☐
	b. 
	1.2 A

	 ☐
	c. 
	0.004 A

	 ☐
	d. 
	4 A






	45. What is the measured voltage drop across the switch in the OFF position?
	 ☐
	a. 
	1 V

	 ☐
	b. 
	12 V

	 ☐
	c. 
	1.2 V

	 ☐
	d. 
	0 V
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	46. What is the available voltage at the circuit protection device?
	 ☐
	a. 
	0 V

	 ☐
	b. 
	5 V

	 ☐
	c. 
	12 V

	 ☐
	d. 
	12 A






	47. What is the resistance value of the resistor in the circuit?
	 ☐
	a. 
	1 ohm

	 ☐
	b. 
	100 ohms

	 ☐
	c. 
	0.001 ohms

	 ☐
	d. 
	1.000 k ohms






	48. What is the voltage drop across the resistor in this circuit?
	 ☐
	a. 
	1 V

	 ☐
	b. 
	12 V

	 ☐
	c. 
	1 V

	 ☐
	d. 
	1.2 V






	49. What is the circuit amperage?
	 ☐
	a. 
	0.012 A

	 ☐
	b. 
	12 A

	 ☐
	c. 
	1.2 A

	 ☐
	d. 
	0.024 A






	50. With the power supply switched to 24 volts, what is the amperage of the circuit?
	 ☐
	a. 
	0.012 A

	 ☐
	b. 
	2.4 A

	 ☐
	c. 
	1.2 A

	 ☐
	d. 
	0.024 A
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